16. TR EZE-BS

112, FEERICR B B2
(BT« 1)
X 4 SRR 224 | SERR2SMESE | ERR244EE | LR | SERR264E
3 b 429 422 491 442 414
H s 85 91 93 80 77
s 0 3 2 1 2 4
=& + & L 6 8 15 8 9
7% + e s 3 2 1 3 2
& i} 111 82 105 98 95
e i3 19 32 34 25 19
BIAE - 2 A - % RAliE — — 4 — —
5t T 114 109 133 120 107
0 K — — — — —
Mmoo B R KT — — — — —
A £ 16 30 26 19 26
53 £ 2 2 2 4 3
Jifs = — — — — 1
#i £ 50 39 42 49 49
HI—E HoOOE 8 7 15 13 7
HOE T & o 2 7 13 14 10 9
- D fth 5 5 6 11 6
I
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113, | N4 EREE K

(HAZ : )
X a * 5 8

WooRk 18 4 8, 347 4,212 4,135
WoOR 19 4B 8, 295 4, 180 4,115
WooRk 20 4B 8, 259 4, 147 4,112
VooR 21 4O 8, 279 4,141 4,138
WooRk 22 OB 8, 261 4,141 4,120
Voo 23 AE OB 8, 224 4,122 4,102
WooRk 24 OB 8, 155 4,092 4, 063
WooRk 25 OB 8, 030 4,015 4,015
WooRk 26 4B 7,966 3,974 3,992
WooRk 21 A 7,977 3,982 3,995
Ho1 & E X 940 449 491
o2 B HE X 4,098 2, 042 2, 056
o3 B HE X 576 306 270
o4 B E X 2, 363 1,185 1,178
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114, BEEFITIRN CHAZ : A, %)
% N A%Eﬁ%%ﬁ 4& =OE K ® E X
it 5 1 i 5 L8 i b L8
& bt B
(NEZEX) (1511, 9]8,216 | 4,151 | 4,065 | 4,980 | 2,463 | 2,517 | 60.61 | 59.34 | 61.92
(Hepifz2) 8,221 | 4,155 | 4,066 | 4,982 |2,465 | 2,517 |60.60 |59.33 | 61.90
(NEZEX) 117, 9.11]8,300 | 4,183 | 4,117 | 5,731 | 2,837 |2,894 | 69.05 | 67.82 | 70.29
(Hepifz2) 8,305 | 4,187 | 4,118 | 5,733 | 2,839 |2,894 |69.03 |67.81 | 70.28
(/NEZEX) |21, 8.30(8,187 [ 4,086 | 4,101 | 5,919 | 2,942 |2,977 | 72.30 | 72.00 | 72.59
(Hepifz2) 8,187 [ 4,086 | 4,101 | 5,917 | 2,941 |2,976 | 72.27 |71.98 | 72.57
(INEZEX)  124.12.16] 8,022 | 3,997 | 4,025 | 5,115 | 2,564 | 2,551 | 63.76 | 64.15 | 63.38
(Hepifz2) 8,022 [3,997 | 4,025 | 5,114 | 2,563 |2,551 |63.75 | 64.12 | 63.38
(INEZEX)  126.12.14] 7,979 | 3,979 | 4,000 | 4,400 | 2,242 | 2,158 | 55.14 | 56.35 | 53.95
(FpIRER) 7,979 | 3,979 | 4,000 | 4,400 |2,242 | 2,158 |55.14 |56.35 | 53.95
Z i bt B

(% 2% X) |13. 7.29]8,146 |4,144 |4,002 |4,797 | 2,380 |2,417 |58.89 |57.43 | 60.39
(pIRER) 8,151 | 4,148 | 4,003 | 4,798 | 2,381 |2,417 | 58.86 | 57.40 | 60. 38
(% 26 X) |16, 7.11]8,219 |4,157 | 4,062 | 4,581 |2,302 |2,279 | 55.74 | 56.11 |55.38
(FpIRER) 8,224 | 4,161 |4,063 | 4,583 | 2,304 |2,279 | 55.73 |55.37 | 56.09
(G2 26 X) [19. 7.29]8,212 | 4,133 | 4,079 |4,698 |2,348 |2,350 | 57.21 |56.81 |57.61
(pIRER) 8,212 | 4,133 | 4,079 | 4,698 | 2,348 | 2,350 | 57.21 |56.81 |57.61
(% 2% X) 122. 7.11/8,165 4,072 | 4,093 | 4,612 |2,331 |2,281 | 56.48 | 57.24 | 55.73
(FepRER) 8,165 | 4,072 | 4,093 | 4,612 | 2,331 |2,28]1 |56.48 |57.24 | 55.73
(% 2% X) |25.7.21/8,028 4,010 | 4,018 | 4,550 | 2,286 |2,264 | 56.68 |57.01 | 56.35
(FepRER) 8,028 | 4,010 | 4,018 | 4,550 | 2,286 |2,264 |56.68 |57.01 |56.35
B %n = |15, 4.13)8,120 | 4,113 | 4,007 | 4,546 | 2,221 | 2,325 | 55.99 | 54.00 | 58.02
19. 4. 88,113 | 4,070 | 4,043 | 4,197 | 2,063 | 2,134 | 51.73 | 50.69 | 52.78
23. 4.10] 8,060 | 4,008 |4,052 |3,650 | 1,819 |1,831 |45.29 |45.38 | 45.19
27.4.12 7,896 | 3,939 | 3,957 | 2,450 | 1,253 | 1,197 |31.03 |31.81 |30.25
B £ |15, 4.13/8,120 | 4,113 | 4,007 | 4,544 | 2,219 | 2,325 | 55.96 | 53.95 | 58.02
19. 4. 8/8,113 | 4,070 | 4,043 | 4,199 | 2,064 | 2,135 |51.76 |50.71 |52.81

23. 4.10]8,251 | 4,117 | 4,134 | #E¥&eE

27.4.12 7,986 | 3,982 | 4,004 | MEHrEE
T £ |14.11. 3/8,116 | 4,117 |3,999 | 5,570 | 2,675 |2,895 | 68.63 | 64.51 | 72.42

18.10.29| 8,334 | 4,206 | 4,128 | MEfE=E
22.10.31] 8,098 | 4,034 | 4,064 |5,456 |2,625 |2,831 |67.37 |65.07 | 69.66
26.11. 9] 7,907 | 3,946 | 3,961 |5,099 |2,489 |2,610 |64.49 |63.08 | 65.89
B 3% & |11. 4.25/7,922 | 4,027 | 3,895 | 6,503 | 3,189 |3,314 [82.09 |79.19 |85.08
15. 4.27,8,126 | 4,115 | 4,011 | 5,885 | 2,838 | 3,047 | 72.42 | 68.97 | 75.97

19. 4.22/8,299 | 4,186 |4,113 | =
23. 4.24/ 8,051 | 4,000 | 4,051 |5,351 |2,587 | 2,764 |66.46 |64.68 | 68.23
27. 4.26| 7,894 | 3,938 | 3,956 [4,337 |2,091 |2,246 |54.94 |53.10 | 56.77
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116, ER DRV
K % o= BRI RERR | e
EHIS | ES | SWAN | RRMEE | s | TR

] ] H it it Gl A

TRk 9 4 4 5 33 67 1 21 43
TRk 10 4E 4 2 32 63 — 18 66
EORR 11 4E 4 6 36 81 — 25 102
TRk 12 4 4 1 33 84 — 21 105
TRk 13 4 4 2 31 79 — 21 103
- ORR 14 4R 4 3 34 73 — 21 104
TRk 15 4 4 2 34 58 — 14 106
¥Rk 16 4 ! 1 30 55 — 16 68
TRk 17 4 4 2 29 65 — 15 91
R 18 R 1 3 34 84 — 19 102
TRk 19 4 4 2 35 64 0 31 79
TR 20 4 4 0 30 68 0 40 114
TRk 21 4 4 4 33 63 0 38 116
TR 22 4 4 1 33 64 0 20 109
TRk 23 4 4 4 36 50 0 21 144
TR 24 4 4 1 31 67 1 20 142
TRk 25 4 4 2 32 62 0 15 110
e RE 26 AR 4 — 34 55 — 15 133
TRk 27 4 4 1 31 66 0 15 152
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7. B B & & X
(BNZ 2 A)
ER - " i RATEOM | HERES
#t 5 %
" " (443 N4) (41 N3) (42 N1)
106 [6] 67 (6] 39 101 3
1 G0 B 8 (4+1) 6 (4+1) 2 8
N % B 11 (H3) 9 (R2) 2 (A1) 11
oW < ® R 5 4 1 5
BB OHT RO 10 (4+1) 7 3 k1) 10
(& fik: 7 8 (N1 6 (1) 2 8
fitt F S 9 6 3 9
BOoE R OE R 6 5 1 6
F b & i # 10 9 1 10
EF ok E R 7 6 1 7
= Ei B 2 2 2
# = i 7 5 2 7
AN (4+1) (4+1)
A R/ S S 1 1 1 1
BRI R 17 1 16 15 2
/N CA - 'Y 1 1 1
o= F B R 2 [1] 1 [1] 1 2
B ¥ X B = 1 [1] 1 [1] 1
EEEHER R 1 [3] 1 [3] 1
B & F B R [1] (1]
V2T 4 H 1 BEAE
(N ) Wik, BRE~OJRERBEE CHEKICET. [ 1 WNIE, FEHREK

69




